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Answer either in English or in Bengali.

1. a) Why do the Sāmkhya  philosophers think that there
is scriptural evidence in favour of the admission of
such categories as mahat etc.?

b) How do the Advaita Vedāntins  refute the above-
mentioned arguments of the Sāmkhya
philosophers? Discuss. 10+5=15
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2. Do the Advaita Vedāntins  admit the validity of the Yoga
system? Discuss after Maharsi


 Vyāsa  and

Śankarācārya . 15

2Ð x÷ìm“þöìî”y!hsþ†’ !„þ öëy†”ŸÅöì̃ îû ²Ìy›y’Ä ßþº#„þyîû „þöìîû̃ Ú ›£!¡ìÅ îÄy¢
ç ŸBþîûy‰þyëÅöì„þ x˜%¢îû’ „þ!îûëûy xyöìœy‰þ˜y „þîûÐ 15

[ Turn over



[ 2 ] [ 3 ]

3. a) Explain the purport of the inference by which the
Sāmkhya  philosophers refute the thesis that
Brahman is the cause of the world.

b) How do the Sāmkhya  philosophers show that the
probans of this inference is present in the locus
(


paksa ) of the inference?

c) Can śrutārthāpatti  be employed to demonstrate that
the probans of this inference is not present in the
locus of this inference? 4+6+5=15
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4. a) Why do the Advaita philosophers think that there is
no possible way to show that the world is different
from Brahman?

b) How do the the Advaita Vedāntins  account for the
observable difference between conscious and
unconscious entities? 10+5=15
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